
Solve Equations Using Properties Name:

What value of  makes this multiplication sentence
true? (Hint: Use properties of multiplication)

Show your work

What value of  makes this addition sentence
true? (Hint: Use properties of addition)

Show your work

What value of  makes this addition sentence
true? (Hint: Use properties of addition)

Show your work

CC.7.131 Page 1 of 4

TeachMe, Inc. ©2025 All rights reserved.

h

38 × 1 = h

h =

w

61 + w = 61

w = 1 w = 122 w = 0

x

23 + 0 = x

x = 46 x = 0 x = 23

#1

#2

#3



Solve Equations Using Properties Name:

What value of  makes this multiplication sentence
true? (Hint: Use properties of multiplication)

Show your work

What value of  makes this multiplication sentence
true? (Hint: Use properties of multiplication)

Show your work

What value of  makes this addition sentence
true? (Hint: Use properties of addition)

Show your work
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d

46 × 0 = d

d =

t

10 × 1 = t

t =

x

53 + (49 + 71) = (71 + 53) + x

x = 57 x = 53

x = 71 x = 49

#4

#5

#6



Solve Equations Using Properties Name:

What value of  makes this multiplication sentence
true? (Hint: Use properties of multiplication)

Show your work

What value of  makes this addition sentence
true? (Hint: Use properties of addition)

Show your work

What value of  makes this addition sentence
true? (Hint: Use properties of addition)

Show your work
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s

16 × s = 0

s =

m

11 + (32 + 90) = (90 + 11) + m

m = 90 m = 11

m = 75 m = 32

u

48 + 0 = u

u = 0 u = 96 u = 48

#7

#8

#9



Solve Equations Using Properties Name:

What value of  makes this multiplication sentence
true? (Hint: Use properties of multiplication)

Show your work

What value of  makes this addition sentence
true? (Hint: Use properties of addition)

Show your work

What value of  makes this addition sentence
true? (Hint: Use properties of addition)

Show your work
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n

15 × 90 + 15 × 91 = 15 × (90 + n)

n = 50 n = 91

n = 90 n = 15

q

28 + 31 = 31 + q

q =

u

84 + u = 84

u =

#10

#11

#12



Solve Equations Using Properties Answer Key

Question Answer

#1 38

#2 choice 3

#3 choice 3

#4 0

#5 10

#6 choice 4

#7 0

#8 choice 4

#9 choice 3

#10 choice 2

#11 28

#12 0
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